Systematic Uncertainties

e BFs : Systematic uncertainties from ST side can be canceled.
* R(D): Systematic uncertainties from Br( D; — yD,) and charged Kaon on the signal side can be canceled

Systematics uncertainties(%) D} — K{K* D! — K)K R(D,)

K* /K~ tracking 0.6 0.6 - Y Ni
K*/K~ PID 1.0 1.0 . 7 Dt
K{ selection -
photon selection -

E7 . 4 Tequirement -

N, yira x0 TEQUIrement -

N sira track TEQUIrEMeENt - ) )
ST mD, fit i Bp:kik+ ~ Bp:o Kk
DT fit 0.9 -

MM2 fit - 1.6

MC statistics 0.4 0.3

B(D* — y D) 0.8 0.8 -
tag bias

total
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Photon selection, E_maxg,N_Pi0 and extra track cuts uncertainties

Using Ds -> Kkpi and KsK Sample to stuy

* Photon selection: fit DT and MM2, using the different of N_MM2/N_DT between data and MC as the uncertainty
* E_maxg cut: fit MM2 before and after cut, using the different of cut eff between data and MC as the uncertainty
* N_Pi0 cut: fit MM2 before and after cut, using the different of cut eff between data and MC as the uncertainty

 N_extrk cut: fit MM2 before and after cut, using the different of cut eff between data and MC as the uncertainty



Fit of Ds->KsK for data
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Fit of Ds->KsK for MC
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Fit of Ds->Kkpi for data
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Fit of Ds->Kkpi for MC
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K sk sample €data EMC €data/ €mc — 1
Photon selection 87.17+£0.84  85.12+0.75 2.41+1.26
E, rq yCut 05.75+£0.68 96.29+0.41 -0.56+0.82
N, ira s0TEqUIrement 93.02+0.71  92.22+0.59 0.86+0.97
Nexira chargedirackequirement  95.99£0.68  97.70+0.51 -1.76+0.70
K ,I(p J samp le €data EMC Edﬁfﬂ/ EMC — 1
Photon selection 77.47+£0.58 76.30+0.43 1.52+0.88
Eoxira yCUt 05.73+£0.31 96.06+0.31 -0.34+0.44
N, 1ra SOTEqUIrement 90.95+0.67 90.13+0.43 0.90+0.86
Nextra chargediracktequirement — 95.60+0.43  96.28+0.35 -0.70+0.57

Combination

Edum/ Emvc — l

Photon selection 1.81+£0.72

Eexira yeut -0.39+0.39

N, a s0requirement 0.88+0.64

N extra chargedtrack? €4 uirement -1.12+0.44
USTC
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1. Find only one Kaon left; 515_ ’ T e e
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